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Class:
Date:

ST. HILDA’S PRIMARY SCHOOL
TERM 1 NON-WEIGHTED PAPER
MATHEMATICS
PRIMARY FOUR

€

P4/

Duration: 55 min

Section A: (10 x 2 marks)

Questions 1 to 10 carry 2 marks each. For each question, four options are given. One
of them is the correct answer. Make your choice (1, 2, 3 or 4) and write its number in

the brackets provided.

Parent’s Signature:

Section A

) 20

Section B
20

Section C
10

Total
50

(20 marks)

1.

2.

3.

4.

93640=93000+ 1 +40

(1)
(2)
(3)
(4)

The value of the digit 9 in 89 453 is

(1)
(2)
(3)
(4)

7104

(1)
(2)
(3)
(4)

6000
600
3000
300

90 thousands
90 hundreds
9 hundreds
90 tens

rounded to the nearesttenis ____

7110
7105
7100
7000

Which of the following is both a multiple of 4 and a factor of 20?

(1)
(2)
(3)
(4)

1
2
8
4
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Find the product of 867 and 4.

(1) 3248
(2) 3268
3) 3468
(4) 3486 (

Find the difference of 5743 and 2497.
Then, round the answer to the nearest hundred.

(1) 3200
(2) 3240
(3) 8200
(4) 8240 (

Study the pattern below. What is the missing number in the box?
1850, 1700, ], 1400, 1250
(1) 1800

(2) 1650
(3) 1550
(4) 550 (

Which of the following is a multiple of both 4 and 67

1 1
2 8
3 42
4) 18 (

When a number is divided by 6, it gives a quotient of 472 and a remainder of 3.
What is the number?

(1) 2814
(2) 2832
(3) 2835

(4) 2850 (
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10.

Tim had 4 times as many cookies as Zac.
After Tim ate 14 cookies, he had half as many cookies as Zac.
How many cookies did Tim have at first?

4y 56
(2) 20
(3 16
@ 4

Section B: {10 x 2 marks)

Fill in the blanks with the correct answers.

11.

12.

13.

14.

Write 48 397 in words.

Write twenty-four thousand, two hundred and nine in numerals.

Ans:

Arrange the following numbers in decreasing order.

14 402, 13320, 13302

This number is a common multiple of 6 and 8.
lt is greater than 30 but smaller than 70.
What is this number?

Ans:
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15. 2 thousands 37 hundrede — 44 tens 60 ones =

Ans:
16. Look at the pattern below.
HILDANHILDANHILDAN..
What letter is in the 27™ position?
Ans:

17. Two of the common factors of 12 and 18 are 1 and 2.
What are the other two common factors of 12 and 187

Ans; and

Page 4 of 8




73

18. The mass of an elephant is 4000 kg when rounded to the nearest thousand.
What is the smallest possible mass of this elephant?

Ans: kg

19. A number is 900 when rounded to the nearest hundred.
What is the greatest possible number?

Ans:

20. Bag A contains 74 balls. Bag B contains 36 balls.
How many balls must be transferred from Bag A to Bag B so that both bags
contain the same number of balls?

Ans:
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Section C: (10 marks)

Read the questions below carefully.
Show all your equations and word statements clearly.

2%. Matt had four times as many pencils as Andy.

Matt misplaced 26 pencils and Andy bought 4 pencils.

They then had an equal number in the end.
How many pencils did they have thogether at first?

Ans:
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22.

Macy had 104 sweets at first.
After giving 24 sweets to Alex, Macy had twice the number of sweets as
Alex. How many sweets did Alex have at first?

fir s+

Ans: [3]
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23.

Parvi is 12 years old now.
His uncle is four times as old as he is.
What will be their total age 7 years from now?

Ans:
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SCHOOL : ST.HILDA’S PRIMARY SCHOOL
LEVEL :  PRIMARY 4
SUBJECT : MATH
TERM : 2024 WA1

Q1

Q11

Q12

Q13

Q14

Q15

Q16

Q17)

Q18)

Q19)

‘ P10 = 50
They had 50 pedtils altogether at first.

endnad 16 sweets at first
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Q23)

12 x4 =48

48 + 12 = 60

7+7=14

60 + 14 = 74

Their total age 7 years from now is 74 years.






